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QUESTION 1

You can use predefined alerts to notify managers about issues on the worksheet that need their attention. Which four
predefined alerts are available? (Choose four.) 

A. Salary changed in HR 

B. Allocation outside target range 

C. Grade changed in HR 

D. Job changed in HR 

E. Worker was terminated 

F. Worker is on long-term leave 

Correct Answer: ABCE 

Section: (none) 

Reference: https://docs.oracle.com/cd/E37583_01/doc.1116/e22776/F387136AN11E5B.htm (predefined alerts) 

 

QUESTION 2

A corporation has implemented Oracle Fusion Workforce Compensation. A Salary basis has been created to manage
employees\\' salaries. It has a payroll element attached. As part of the Salary changes, when the compensation
manager is trying to update the Salary amounts, the same is not reflecting in the payroll elements entries of the
employee. 

Identify the two possible causes for the issue. (Choose two.) 

A. Automatic entry is checked for the payroll element used. 

B. Automatic entry is checked at the element eligibility link for the payroll element used. 

C. Salary basis is configured to be non-updatable. 

D. No components are defined to handle these salary adjustments. 

Correct Answer: AC 

Section: (none) 

 

QUESTION 3

A manager publishes budgets as amounts to the managers reporting to him. The following table shows the allocations
made to each direct report (managers) and the total salaries of the employees in their chain. 
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Now, one of Manager 2\\'s employees with eligible salary of $ 100,000 is reassigned to Manager 3. What will be the
impact on Budget Percentage? (Choose the best answer.) 

A. No impact. The budget allocated to the employee will automatically be allocated to Manager 3. Budget percentage
will remain as 10. 

B. Allocated budget will not change. Budget percentage of Manager 2 will increase to 12.5% and Manager 3 will
decrease to 8%. 

C. Allocated budget will not change. Budget percentage of Manager 3 will increase to 12.5% and Manager 2 will
decrease to 8%. 

D. Budget allocated for the employee will be released back to the manager for reallocation. Budget percentage will
remain unchanged. 

Correct Answer: C 

Section: (none) 

 

QUESTION 4

A corporation implemented Oracle Fusion Workforce Compensation. A salary basis has been created and attached to
the employee and a compensation cycle has been run. The corporation wants to include a new component as part of
the salary basis. 

Which three are predefined components? (Choose three.) 

A. Regular and automatic adjustment 

B. Market adjustment due to salary being out of line with the market 

C. Equity adjustment to correct salary compression or inversion 

D. Adjustment due to corrections within the organization 

Correct Answer: ABC 

Section: (none) 

Reference: https://docs.oracle.com/cd/E37583_01/doc.1116/e22776/F387136AN11E5B.htm (salary component
lookups: explained) 

 

QUESTION 5
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Which three dates are mandatory while creating plan cycles? (Choose three.) 

A. Evaluation Period Start Date 

B. Worksheet Update Period Start Date 

C. Plan Access Start Date 

D. HR Data Extraction Date 

E. Performance Rating Date 

F. Default Due Date 

Correct Answer: ABC 

Section: (none) 
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